L3 Lead Examiner Report

1806

‘BTEC
June 2018

Level 3 National in Health and
Social Care Unit 1: Human
Lifespan Development (31490)



Edexcel and BTEC Qualifications

Edexcel and BTEC qualifications come from Pearson, the world's leading learning
company. We provide a wide range of qualifications including academic, vocational,
occupational and specific programmes for employers. For further information visit our
qualifications website at http://qualifications.pearson.com/en/home.html for our BTEC
qualifications.

Alternatively, you can get in touch with us using the details on our contact us page at
http://qualifications.pearson.com/en/contact-us.html

If you have any subject specific questions about this specification that require the help
of a subject specialist, you can speak directly to the subject team at Pearson. Their
contact details can be found on this link:
http://qualifications.pearson.com/en/support/support-for-you/teachers.html

You can also use our online Ask the Expert service at https://www.edexcelonline.com
You will need an Edexcel Online username and password to access this service.

Pearson: helping people progress, everywhere

Our aim is to help everyone progress in their lives through education. We believe in every
kind of learning, for all kinds of people, wherever they are in the world. We've been
involved in education for over 150 years, and by working across 70 countries, in 100
languages, we have built an international reputation for our commitment to high
standards and raising achievement through innovation in education. Find out more about
how we can help you and your learners at: www.pearson.com/uk

Publications Code 31490_1806_ER
All the material in this publication is copyright
© Pearson Education Ltd 2018


http://qualifications.pearson.com/en/home.html
http://qualifications.pearson.com/en/contact-us.html
http://qualifications.pearson.com/en/support/support-for-you/teachers.html
https://www.edexcelonline.com/
http://www.pearson.com/uk

Grade Boundaries

What is a grade boundary?

A grade boundary is where we set the level of achievement required to obtain a certain
grade for the externally assessed unit. We set grade boundaries for each grade, at
Distinction, Merit and Pass.

Setting grade boundaries

When we set grade boundaries, we look at the performance of every learner who took
the external assessment. When we can see the full picture of performance, our experts
are then able to decide where best to place the grade boundaries - this means that they
decide what the lowest possible mark is for a particular grade.

When our experts set the grade boundaries, they make sure that learners receive grades
which reflect their ability. Awarding grade boundaries is conducted to ensure learners
achieve the grade they deserve to achieve, irrespective of variation in the external
assessment.

Variations in external assessments

Each external assessment we set asks different questions and may assess different parts
of the unit content outlined in the specification. It would be unfair to learners if we set
the same grade boundaries for each assessment, because then it would not take
accessibility into account.

Grade boundaries for this, and all other papers, are on the website via this link:
http://qualifications.pearson.com/en/support/support-topics/results-certification/grade-
boundaries.html

Human Lifespan Development (31490)

Level 3

Grade Unclassified N p M b

Boundary Mark 0 17 34 48 62
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Introduction

The 2018 June examination was the third in the series, and once again utilized a
simplified three question format, with each section receiving equal weighting of 30
marks.

The overall rate of Pass, Merit and Distinction grades awarded for this paper were very
similar to those recorded for the previous paper.

The major guidance criteria for establishing the criteria for the awarding of grades for
this examination series were:

For a Level 3 Pass, Learners were able to explore familiar applications of physical,
intellectual, emotional and social development across the human lifespan, factors
affecting human growth and development and the effects of ageing.

Learners related given situations to human development, theories/models and other
factors affecting human growth and development. They selected and organised
information using appropriate knowledge and concepts about theories/models in
relation to human development, factors affecting human growth and development and
the effects of ageing.

The responses for the Learners deemed as meeting the Pass criteria were in line with
these requirements.

However, for a Level 3 Distinction, Learners were able to articulate arguments and
views concisely and professionally to justify and evaluate physical, intellectual,
emotional and social development across the human lifespan, factors affecting human
growth and development and effects of ageing.

They were able to use detailed analysis and research to make recommendations related
to human development theories/models and factors affecting human growth and
development. They can draw on knowledge and understanding of theories/models in
relation to human development, factors affecting human growth and development and
effects of ageing.

Again, the responses for the Learners deemed as meeting the Distinction criteria were
in line with these requirements.

Those Learners awarded a Level 3 Merit did not provide the depth, detail or accuracy
of the Distinction Learners with regard to the required discussion, assessment or
evaluation of the questions posed.



Introduction to the Overall Performance of
the Unit

All questions were attempted by a large majority of Learners, indicating that
Learners had covered the content of the course. The three question format- with
equal weighting for each question- again eased issues with regards to timing as the
vast majority of Learners attempted all the questions in the paper.

However, for those Learners who did not complete questions - possibly due to
timing issues- it is important to note that the question stem does not need to be
repeated and repetition of information present in the question stem will not gain
any marks. Moreover, doing so occupies time that Learners who do not complete
the paper may utilise more to their advantage. Consequently, tutors may wish to
discourage this practice when the Learners are revising using past exam papers.

There were several areas where Learners may also be further guided to improve
their performance.

Some Learners did not correctly interpret the questions and the information
provided in the question stem and subsequently produced inaccurate responses
e.g. Learners did not identify the correct life stage as requested (1a) and this led to
Learners providing inaccurate responses to question 1b e.g. where they identified
‘Mary' as being in middle adulthood in 1a, learners provided physical factors
relevant to middle adulthood in 1b (e.g. Menopause) and failed to score any marks.

The lack of attention to the requirements of the question was also evident in
question 1e. In question 1e some learners made generic comments regarding
confidence which were not linked to self-concept as required by the question e.g.
She will be more confident (0 marks) as opposed to her self-esteem will be boosted
by her success and this will lead to increased confidence (2 marks).

Learners had a reasonable attempt at question 1f, but frequently, primarily focused
on the negative aspects of low income and, although learners frequently produced
some very good answers, as they were entirely one sided, they did not move
beyond the middle of mark band 2 e.g. 4/5 marks.

Learners should produce a balanced answer with counter arguments to achieve
level 3 in 10 mark questions which ask Learners ‘to what extent’ or ‘evaluate.’

A Level 3 answer (7-10 marks) requires Learners to provide ‘evidence of application
demonstrating linkages and interrelationships between factors leading to a
supported judgement/judgements being made and display a balanced evaluation,
demonstrating an awareness of competing arguments, leading to conclusions'.



In question 2¢ Learners occasionally lost marks through slight variations of similar
points/repetition e.g. earns her own money/is now financially independent - has
responsibility at work/is responsible for her own area of work. Learners would only
be awarded marks for only one of these answers.

Stronger learners dealt well with question 3b, however, weaker learners frequently
included isolated knowledge about Piaget's theories of cognitive development
without reference to schemas and did not score any marks.

Whilst, as expected at Level 3, the paper included a strong emphasis on the
theoretical background included in the specification, this was tackled reasonably
well, with most Learners displaying some understanding of the relevant theories.
For some Learners, it may be worthwhile revisiting the exam technique and the
requirement to produce a balanced answer in relation to the ‘To what extent’ and
‘evaluate’ question stems (see levelled mark scheme for 10 mark questions below).
An increased awareness of the command verb may aid the construction of an
appropriate response.

The 10 mark questions in this paper were marked using a levelled system that
allocated Learners’ responses a level dependent on the accuracy and depth of the
answer. The responses were then placed at an appropriate mark within the level.

The indicators for each level are as follows:
Level 1 (0-3 marks):

. Demonstrates isolated knowledge and understanding of relevant
information; there may be major gaps or omissions.

. Provides little evidence of application and links between relevant
information. Evaluation likely to consist of basic description of
information.

. Conclusions may be presented, are likely to be generic assertions rather
than supported by evidence.

. Meaning may be conveyed but in a non-specialist way.

. Response lacks clarity and fails to provide an adequate answer to the

question.



Level 2 (4-6 marks):

. Demonstrates accurate knowledge and understanding of relevant
information with a few omissions.

. Evidence of application demonstrating some linkages and
interrelationships between factors leading to a judgement/judgements
being made.

. Evaluation is presented leading to conclusions but some may be lacking
support.

. Demonstrates the use of logical reasoning, clarity, and appropriate

specialist technical language.
Level 3 (7-10 marks):

. Demonstrates accurate knowledge and understanding of relevant
information with a few minor omissions.

. Evidence of application demonstrating linkages and interrelationships
between factors leading to a supported judgement/judgements being
made.

. Displays a balanced evaluation, demonstrating an awareness of

competing arguments, leading to conclusions.
. Demonstrates the use of logical reasoning, clarity and appropriate
specialist technical language.



Individual Questions

1a: Learners who correctly identified the 2 life stages scored full marks. Generally well
answered, a majority of learners scored at least 1 mark for adolescence but there was
some confusion with identifying middle adulthood for some learners and some learners
incorrectly identified middle adulthood for Patrick and Mary which led to them also
scoring 0 marks in question 1b.

1a - 2 marks

Answer ALL questions. Write your answers in the spaces provided.

Beatrice is 46 years old and is married to Patrick aged 48 years.

They have three children, Roxy aged 20 years, Annabelle aged 17 years and Mary
aged 13 years. g

1 (a) Identify Patrick and Mary’s life stages.
2)

Patrick
LAk AdMINOQEl e
Mary

1a - 1 mark - Learner repeats middle adulthood and has obviously failed to correctly

read the question stem.

Answer ALL questions. Write your answers in the spaces provided.

Beatrice is 46 years old and is married to Patrick aged 48 years.

They have three children, Roxy aged 20 years, Annabelle aged 17 years and Mary
aged 13 years.

1 (a) Identify Patrick and Mary's life stages.
(2)

Patrickmj” 18

Msddos  Advitheod -

Mary




1b- 0 marks. Learner has not interpreted the question correctly and this type of
response generally followed for Learners who had also incorrectly identified Mary's life

stage in question 1a.

(b) Outline four physical changes that should happen to Mary during her current life

stage.
(4)

Ly

1b - 3 marks. Another common mistake was the inclusion of emotional factors, as
below, which led to the dropping of a mark.

(b) Outline four physical changes that should happen to Mary during her current life
stage. “
1. Menstorual QJ\CLQ Stkaces
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1b - 3 marks. Growth spurt (and puberty) should be qualified to gain a mark e.g. will
get taller/gain weight. Puberty means that breasts will increase in size. Puberty and
growth spurt are not physical changes by themselves.

(b) Outline four physical changes that should happen to Mary during her current life
stage.
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1b- 4 marks. A good example of the brevity that stronger Learners ferquently use.

(b) Outline four physical changes that should happen to Mary during her current life
stage. “
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1c- Marks were dropped here by learners who did not engage with the requirements of
linking positive peer pressure with an appropriate expansion. Some learners focused on
a generic discussion of self-esteem issues without linking this to peer pressure and
subsequently did not score any marks and other learners misinterpreted the question
and focused on negative aspects of peer pressure. Repetition of aspects of learning
were not awarded twice.

1c - 4 marks. A concise but accurate answer that scores full marks.

(4)
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1c - 0 marks. A typical example of an answer which does not fully engage with the
requirements of the question and focuses on the negative aspects of peer presure.

a house with a group of other students.

Explain bwa ways Roxy may be pasitively influenced by peer pressure.
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1c- some Learners only provided one response and scored 2 marks

(c) Roxy is in her third year at university, where she is studying sodiology. Roxy shares
a house with a group of other students.

Explain two ways Roxy may be positively influenced by peer pressure.

(4)

(=t
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1d: A generally well answered question with most Learners demonstrating clear
knowledge and understanding of this area. Learners were awarded one mark if they
accurately recognised the difference between cultures but failed to link this to an
appropriate example e.g. Some cultures may believe that illness may be God's will (1
mark); If this response is linked to a specific example e.g. Jehovah's Witnesses would
therefore not have a blood transfusion, it would have scored (2 marks).

1d. 4 marks. 2 good examples included

_ s U

prevent them seeking medical intervention.
oG
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(d) Roxy has friends from a broad range of cultures and religions,

Describe how an individual's culture, religion or beliefs may:
)

impact on their choice of diet
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1d - 3 marks. The Learner drops a mark here as they do not privide an accurate
expansion to the second point.

(d) Roxy has friends from a broad range of cultures and religions.

Describe how an individual’s culture, religion or beliefs may:
(4)

impact on their choice of diet
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1e: Some learners made generic comments regarding confidence which were not linked
to self -concept e.g. She will be more confident (0 marks) as opposed to her self esteem
will be boosted by her success and this will lead to increased confidence (2 marks).
Another common mistake was repetition e.g. she feels positive about herself as she has
achieved something/she feels good about herself as she has passed her exams. Only

one aspect of these responseswould gain marks.

1e - emarks. This response demonstartes the level of detail and range of examples

required for full marks.

(2] Roxy has recently completed her second year examinations and has achieved
excellent grades.

Discuss the posltive impacts on Roxy's self-concept of being successful in
_university. T
(6)
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1e - 1 mark. This learner has understood the question but failed to provide a
discussion. A good response would generally include 2-3 points in the discusion.

() Roxy has recently completed her second year examinations and has achieved
excellent grades.

Discuss the positive impacts on Roxy’s self-concept of being successful in
university.

(6)

Q.o:fjw\.w\. ........ AN G T SEYTERTTN. o RSN A T S S S O,

CAES...... B g S 1 N S DX SR ETAY Y.

1e - 4 marks. This learner has understood the question and has included 2 points in
the discusion without the detailed discussion required for full marks.

Discuss the positive impacts on Roxy's sell-concept of being successiul in

university,
16
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1f: Some very good answers here, that, unfortunately, were one sided so they did not
move beyond the middle of mark band 2 e.g. 4/5 marks - Learners should provide a
balanced answer with counter arguments to move on to level 3. In the less strong
responses, frequently, despite the answer’s length and the inclusion of some specialist
terminology, the answers demonstrated limited understanding of the positive and
negative impacts of low income in relation to the scenario.
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1f - 3 Marks (Level1) . An example of a response that demonstrates some
understanding, but fails to move beyond Level 1.

{f] Roxy has a parnt-tme job because she is a student, She often struggles financiaky.
To what extent can low income affect an individuals health and wellbeing?
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1f - 7 Marks. A clear evaluation of the impact of low income, with an appropriate range
of examples that places the Learner in Level 3.

] Roxy has a part-time job because she s amsm often struggles fimancially,
To what extent/can low income affect an individual’s health and wellbeing?
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1f. 4 marks. Whilst this response has some accurate knowledge and understanding it

is a one sided answer that fails to evaluate this information to an extent that enables it

to move from the bottom of Level 2 (4-6 marks) in the Mark Scheme.

D R e e e e e

T what extent can low income affect an individual’s health and wellbeing?
{10}
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2a: Interpreting data from graphs has troubled some learners previously, but this was a
well answered question with most learners scoring full marks.

2ai - 1 mark
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2ai - 1 mark. The additional information is not required.
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2aii 1 mark

(ii) What is the difference in the percentage rates between 16-18-year-old NEET
and 19-24-year-old NEET?

Tle A emee 05 T

2aii 0 marks. Some learners appeared unfamiliar with graphs and may benefit from

additional guidance in interpreting them.

(i) What is the difference in the percentage rates between 16-18-year-old NEET

and 19-24-year-old NEET?
(1)

2b.A generally well answered question generally with some learners losing marks due

to repetition, as seen in the response below which scored 2 marks.

Howewver, Annabelle is due to start working at a local hair and beauty salon and
studying for qualifications in hair and beauty. There are several other students of
Annabelle’s age working at the salon.

Qutline two benefits of friandship for Annabelle.
; (4)

(NelaWah SIS WS IS s —A S o T e =TT A e S
nor.  =oca ol oot e o onalia oS o

1

DDy DD LA DD ra;v:rﬁr‘:hmr\
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2b- 4 marks. Two clear examples.

Cutline two benefits of friendship for Annabelle.
(4)

WMMMW 2l Coun. 0
Sl el i skl ta bas ke e Frinds whida

sl sldso WW%M ..... e Sadonguing
2. Fnebhac. orntplk. S t)n-&[} I Gppes e

\n«u.u.b.ﬁ ..... W&;@Mm mmuﬂb —

wfd‘und.& tadaww.

2c-Again a generally well answered question- with learners occasionally losing marks

again through slight variations of similar points and repetition e.g. earns her own

money/is now financially independent - has responsibility at work/is responsible for her

own area of work

2c- 4 marks. A good explanation of the potential positive and negative impact on
independence.

(c) Explain two ways that Annabelle’s new role in the salon will Impact on the %Q

development of her independence @
1. M0e M s, Neaa. 021€. Mas . Comsist.. 0. loer. e g 20
LNCHR... QL A forr o DN R D VR GOUN L (ARLE N 55,
Qd;t;\fn gm ........... CAM .. Can. Bloglae... .S
CX R = QL&V\uconcﬂbamLArtnoLmQCQnaeq,ﬁStq
Moo wmn@msmammmmwmcemguub

O\ I R 004 D0 et p-
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~naned ) anakelle | cell e Laoruing. Gulen
Qe plng | Salon ovlees ond  Swe Mosn he aploo]

Aol e Loltna.  Eemn. k. U EUAe p

kup W \oecbi\Ae Meone  (Indepomolenk AS  Si~e Ma—...

Leed brot e cand u‘io LNy on b iy iy
oot nalp daveley e & (Aclipenolence.

2c- 0 marks. The learner fails to link examples to the requirements of the question.

Danskedde’ e color . waidd.. oddoo. heco.. .

..... conbidence..

2y AE il odse  allew  her Eo ko

tevernch . aiihh. ke . coStamen:

s a1 T e .o

2d some very good answers that were again one sided so they do not move beyond the
middle of mark band 2
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2d- 2 marks. A clear answer that has some repetition and lacks the detail required to

move beyond Level 1.

Evaluate the impact of retirement and increased leisure thime on Patrick’s health
_and welibeing.
(10}

H...—.m-gdn Qo Parncy. 1o SEend i Uusrh DS
loved Boes umcn itk loe greok €or ns  neaikh
ond_ (RADANG  HerOL SE I WL INCIES S i SOO0L.
ANOYNeeimpact could e m+ﬁgue5mfam+m
D pooMe  SOre. e S looKang. . Oer  nwenelke

s Neaikn. andh welk teund beconse W rvds cnigt

1A ik odaow. Podoer. LD _Fhe ranQs he newer
connd_hetoce. wifich uaw T RAMe . naro. hc;pm— and
il InCreose s soanl . Lr&emﬁ:ﬁ

N P U HAT RO BB L I

o i R P e
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2d -6 marks. A nice answer with some balance that places the response at the top of
level 2.
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2b - 7 marks. Clear and thorough answer with reference to relevant theories that was
typical of the reponse of stronger learners.

Evaluate the impact of retirement and increased leisure time on Patrick’s health
and wellbeing.

(10}

e et s s B e AP b b b e AT
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2e: Many of the stronger answers were detailed but failed to address the positive
aspects of the scenario and subsequently were mainly mid band in level 2.

2e - 7 marks. Clear and detailed answer with reference to a range of appropriate
examples.

(1o

The S
\3 Yo Wiph ,ard .

G0 and. &Lu m:& xmpa,a&s'

TS Lanrex a.;.m‘@)ds.«

Qo Bnonde mdudom 052 Ao Yo aceiwg
P P e p.’\wmzc:e
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2e - 4 marks; mainly negative examples provided.

(e} Evaluate the impact on society of an ageing population.
(1o

Ope. ok, o - A0 Ougeing. pﬁ.P!.,LLﬁJ:‘IOI\ XIGs, O DOCIeey
RAD LAY RO e taRDe . SR SAAE _ACnOye AL YRS E L IR e
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3a - Most Learners did well on this question, although some learners failed to
understand what developmental milestones were.

3a -4 marks
. A
3 (a) Identify, in the correct order, the four physical developmental milestones that
Molly has passed through in this life stage.
(4}

3a- 0 marks. The Learner fails to understand what the question is asking for.

-

3 (a) Identify, in the correct order, the four physical developmental milestones that

Molly has passed through in this life stage.
(4)

1.birth

2 %-resb\ﬁh NOrms

3 dETetopmenE grouuth
development

[A
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3b - Stronger learners dealt well with this question, whilst weaker learners frequently
included isolated knowledge about Piaget's theories of cognitive development without
reference to schemas and did not score any marks.

3b - 6 marks. Short but clear answer.

(b) Outline Piaget’'s explanation of schemas.
(6}

AL S0remen AR SD0OAA. . PACKeE OL. N OV MNOAIOD .
—ASamon ladionN. = ur\Uc\c:u_ \dea, QC Scbme,'d’\‘_‘.........
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ogcgkﬁ.xsrounﬂﬁmﬁcjgcmmmn ................................ .
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D\Sf:q,u\ubf NSTn o ﬁmmd&é"&n% ...... MAC e %Chema
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- Bccaoammadi o om = Clcc,e_pt odNn . _experiences

3b- 0 marks. This answer was typical for learners who incorrectly focussed on Piaget's
work on the stages of cognitive development.

(b} Outline Piaget's explanation of schemas.
(6)

Flxget velieved Aot a. child only has
ont. oLt ool and docsSn 4 bandeSand
YONE 65@1‘3 epinom e He ale Skhoewin
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| ene. -ecs.f ‘s,

2

=3

3c: Many learners recognise and accurately identify the role of the stages in Piaget's
theories but fail to assess them so are awarded in the middle of level 2.
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3c- 7 marks. Clear and detailed answer that includes a balance that leads to it being

awarded Level 3.

(c) Justify how Piaget’s theory of stages may explain cognitive development.
(10)
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3c - 5 marks. This response has less detail and balance and is awarded mid Level 2

B B T S e T

(c) Justify how Plaget’s theory of stages may explain cognitive development. o
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3c-
failed to score any marks.
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0 marks. Some learners appeared completely unfamiliar with Piaget's work and

{c) Justify how Piaget's theory of stages may explain cognitive development.
{10)
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3d - Weaker learners mainly listed the physical aspects of stress, often without accurate
expansions and subsequently struggled to score beyond mark band 1. Whilst the
stronger learners engaged with the relevant theories they did not always address the
counter arguments of the positive side of stress and were, once again, awarded the
middle of mark band 2.

3d - 7 marks. Good answer with enough balance to progress to Level 3.

Discuss the effects of stress levels on an indivi Ith and wellbeing, with
reference to the Holmes-Rahe social res scale,
{10
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3d -1 mark. The learner demonstrates isolated knowledge and fails to move beyond
Level 1.

Discuss the effects of stress levels on an individual’s health and wellbeing, with
reference to the Holmes-Rahe social readjustment rating scale.
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Summary

Although the length of the response is far less important than the quality and accuracy
of the response, learners should use the number of marks and space available as a
general guide to the depth of response required. Brevity and accuracy are especially
important in the responses for ‘Identify’ questions where extended
discussion/description is not required for full marks.

It is important to remain precise in your responses. If self-concept is asked for in the
question, do not mention any other aspects of development e.g. ‘Confident' or ‘happy
‘unless they are relevant to the development of self-concept. It is also important to
avoid repetition.

The overall structure of the Learner’s response should be based on the command word
in the question, e.g. Identify does not require any expansion of a point (and some
learners provided extensive information that was not required for ‘identify’ questions)
but explain will require an expansion. To what extent, evaluate and assess are
command verbs that will always require a balanced argument to gain higher marks.

Repeating the stem of the question will not gain any marks. The question scenario is
there to enable you to demonstrate your ability to apply your knowledge and
understanding to the scenario.

Use appropriate theorists when required and compare and contrast these theorists to
expand the evaluation aspects of the response; however, the theories must be linked
directly to the scenario under discussion. Even a detailed explanation of a theory
without accurate application or links to the scenario or question will not gain mark.
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